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Sample Question 1
Answer: C

What is the solution set of the the following

equation? A Aol Jullde pama ala

4x2+-‘|x=2—6

Sample Question 2
Answer: C

Identify the quadrant when the sum of the Aoe ) pan Joals s i iy gl s
complex numbers 3+ 27 and 6 -4/ is

graphed. 6—4i 53 +2i 48l

Sample Question 3
Answer: C

Page 2 of 12
2018-2017 ol sl alall aalall Ay il 5 50 55
A sall 5 dgida o) ol LAY 5 )




Bt e et | S La ¥

Sawlball Sl jLisl
E m SATﬁ\e Emi.f'atesgt‘a!\da?]dizje& Test

Write the expression below in simplest form. %3 gomm Jmaaily alial il 660

v =300

125
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Sample Question 4
Answer: B

Solve.

v -3y=9

3135
2

3:3/5
2

-3:+3/5
2

31233
>

[
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Sample Question 5
Answer: 1078

For her phone, Halima pays a monthly 18 Jlsias asus s!_,.J.i_.: el danla sl
fee of 18 AED and she pays an agelo dny 81 Wl B e, :!A;J;
additional 5 fils per minute of use. . . Ty e ey

g tats il

The least she has been charged in a . it -
month is 71.90 AED. 71.90 s Lo joo sldalad il 8
La 3o
What is the minimum number of _
minutes she has used on her phone in a darhs Lganatd Al SilEal) e G090 oall s

2 AP
month’ ? el gl Ledlla 2

Minimum number of minutes used: [ ] il 3l e 8
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Sample Question 1
Answer: B

Which equation represents a circle whose
center is (3, — 1) and whose radius is /67

Ls 38 e uJ' oz g1 AlAl Yl
6 o plinaiy(3, - 1)

(x +3)°

+(y-17=6

(x —3)°

+y+17=

(x = 3)°

+(y+1)2=36

(x +3)°

+(y-1)7=36
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Sample Question 2
Answer: 44

A company sells dates in boxes of two
different sizes: the regular box and the
family box.

pilisg Sesay Gadiee 8 ) sad oL 48 0 o

_\‘;IIL-._-"I_.; H‘ | ,.-|'| P 3,-|II

The length of the family box has been 0415 oty sloyy Bl aaadl 50ie
increased by 15%. the height has been ol N T *":L i
increased by 25%, and the width remains Sl 3 gt unlia o %25 2 4cli i,
the same as compared to the regular size s LS aa e

box as compared to the reqular size box.

What is the percentage of increase in the
volume from the regular box to the family
box?

Round your answer to the nearest percent.

Percentage of increase in volume :]

Sample Question 3
Answer: 55.5

In the picture below, MATH is a rectangle, Jeal Jalaiisa ﬁ(n,fATm el Bl s

e

CE=4.6, MH=6 and HT = 15. HT=15:GB=4.6, MH=

. 2 s [T
VWhat is the area of the polygon VMBATH: ¢ MBATH Lol ialos _als

Round your answer to the nearest tenth. L

280 Ga e g o R Slilal )

M G A
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Sample Question 4
Answer: 12.5

Triangle ABC is similar to triangle DEF .
The lengths of the sides of £ ABC are 5,
8, and 11.

What is the length of the shortest side of
& DEF | if its perimeter is 607

Sample Question 5
Answer: C

If m£A=35,b=3, and a =4, how many

different triangles can be constructed?

eSwliall iljloYl jLisl
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_DEF il (Jilea ABC iall
11 8.5 2 AABC Ll g el J LI

CAS 150 A DEF Cliall L sl JoL sala
A0 o 4liaa

se £.mLA=35,b=3,a=4J5

ey (fay \___’J‘. aibiaal st

A/
‘ one right triangle, only

LY

50 30 A8 L a5 il

p
‘ two triangles
L

c.oo/
‘ one obtuse triangle, only

i

-

D.
‘ nao triangles can be constructed

i
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Sample Question 1
Answer: A

Identify the statistical data type for the
following variable: a medal won at the
Olympics (gold, silver, bronze, or none).

Addlae: I putall Slasyl jleall v

. 0 L T T T .
T PT PES ) EETPAPY [ E PR e |

I

Mominal

i

Ordinal

i
i

I

Interval
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Sample Question 2
Answer: 59

Here are scores of 20 students on an
algebra test.
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oaad sl sTIL 20 Ga o Liles

Score

Frequency

Find the mean of this data set.

Sample Question 3
Answer: A
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Ahmed and Hamad play tennis each week. & st J8 il 58 ses g daad il

The probability that Ahmeg wins the first 5 2ea 2o 10l a3 i of dllaial
match against Hamad is 3 (0 Joal e 3 L) =

3

What is the probability that Ahmed
wins exactly three of the next four matches
against Hamad? Faan s Al TSl Y1 3

h.;.a.ﬂ_ "'_J-_L.a_.J.J._.u:..- Jsdl ) IJ._L"-_.u_U _.h!_.a
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Sample Question 4
Answer: 1.28

The average rainfall for the years since
2005 is given in the table below.

Year

Amount in cm

In 2010, there was 2.956 cm of rainfall. 22956 Ll Lo i cul€.2010 2

How much more rain fell than predicted by

i gl e g8 Laldll ol i sl
the table above? B

P L O R |
Round your answer to the nearest y :
hundredth. R s

Sample Question 5
Answer: C

The heights of boys in a grade 10 class are
normally distributed with a mean of 168 cm
and a standard deviation of 2.5 cm.

uJ_J_gJ1D\_ﬂ._nI a Al 1!3_.:.- :nJ_J_-gJ_JJ.I:J
R PN IR . : IR VS R T
2.0

In which range do 95% of the heights . . o .
approximately fall? Cluud J LYY e %05 Les o5 i) gl sals

160.5 - 168 cm

160.5- 1755 cm

163 - 173 cm

163 - 175.5 cm
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